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void ex();

int main{void) {

ex(); ex(); ex();
ex(); ex(); ex();

return 0;

|

void ex() {
int math;
int english;

int chinese;

printf("5EHA A B 57, Bsz, ERERTSYER D \n")
scanf("%d 2%d %d", Bchinese, &english, &math);

if (( 1. o) _2. ( 3. 100)) {
if (( 4. 0) _5. | 6. 100)) {
it (( 7 0)_8. ( 9. 100))}
printf(" AR A B EEHE U IERE ")
telse {

printf(" R A BT ERAE AT # ")
printf("S7EL | 26d\n", math);

|
}else {
printf(" i A AU ERMES T # ")
it (( 10. o) 11.¢ 12 100)) {
printf(" 13. eadhn", 14. =
|
printf("EE =7 ¢ %6dh\n”, english);
H
lelse {
printf(" i A BT ERIAE AT #n")
if ({ 15. o) 16. { 17. 100)) {
if ({ 18. 0) _19.¢( 20. 100)) {
printf("_ 21 . %d\n", 22 iz
H
lelse {
i ({ 23. 0) 24. ( 25. 100)) {
printf("8rEL | 2ad\n”, math);
H
printf("EE =7 [ %6dh\n”, english);
|

printf("EE =7  26d\n", chinese);
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short ‘2 & #c | 2 bytes -32768 1 32767
int £ dc 4 bytes -2147483648 1 2147483647
long £ % #c | 8 bytes 2% 1 2%
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if A%B=0
GCD(A B) = AR IR S
GCD(B,A%B) if A%B=0
T % Java RN E
public static void main(String[] args)
{
int A, B;
Scanner num = new Scanner(System.in);
//ﬁi%l ~ A B
System.out.print(“; ﬂ—ﬁi;J »~ A,
A = num.nextint();
System.out.print(“; ﬂ—ﬁi;J > B:");
B = num.nextint();
//ﬁi%J I o Flic
System.out.printin(“# + = F]#=" + Factor(A, B));
4 }
static int Factor(int A, int B)
{
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}
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